;ﬁifzhw Devivatves

‘ Quick Review 7.5

1 Find the first and second derivatives of the

following:
(a) y=4x° + x>+ 8x+5

(®)y _x+1
(c) y=v2x+ 1
(d) y=222+3x— 2+—

2 Find the first and second derivatives of the
following:
(a) sin

(b) 3 sin* (w1)

‘ (C) esin wt
(d) tan (wt— g)
3 Find the first and second derivatives of the

following:
(a) eflog, t

(b) e*®cos t

(C) tesi.n t

1 t
(d) e

4 Use implicit differentiation to find the first
and second derivative of the following:

e 1
() y==x X+y

(d) 22 +2xy+3y2=2

Find the rate of change with respect to x of
the slope of the tangent line to the curve

x* + y* = xy + 3 at the point (1, 2) on the’

curve.

If y is a function of x given by:

©+ P =2xy+8
dy dy .
find the values of i and 2 &t the point

(2,2) on the curve.

If y~ 2e7%* sin x = 0, prove that

If vek = A sin wt + B cos wt, A, B being
arbitrary constants and k, o given fixed

(c) wcos wt e ¥, y2(cos? wt— sin wi)esin ¥

(d) wsec? (wt— %)
:2w2 sin(wt— E) cos? (wt— 12‘-)

tl)

e’log, ry < ,e flog, t+ = +

(b) we?¥[2 cos wt— sin wt]
w2é"(3 cos wi— 4 sin wt]

(c) &1+ tcos i
e #[2 cos t+ # cos t— tsin 1]

1 1
(@) S[1-log, 4, 5[21og, £-3]

(@) = xy +1 constants, prove that
s (b) y= d?v ;
7 r= x+y d12+2k +v(u) + k) =
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1 (a) 20x*+2x+8,80°+2 (c) — 5 F -z Bp-x
(2x+1)2 ) - y 2
2 1 2 x+2y’ (x+29)
Oy @ ety @ AL
2 (a) = cosmt, —n? sin wt y F
(b) 12w sin® wt cos wt @) (x+y) Gy=2{x+y)—(x+3p)?
12?2 sin? wt [3 cos? wt — sin? wi] (x+3y) (x+3y)P
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